2018_3_1. Thinking about the environment and climate change, please indicate whether you agree or disagree with each of the following statements: - Canada needs to do more than it is currently doing to address climate change

Total Male Female 18-34 35-54 HS Post Sec | Univ Grad The The Liberal | The New | The Bloc Or some
_...... o = oo | -
e Party Party (NDP) (BQ)
Base: All Respondents (unwtd) 2001 9204 1097 543 699 759 74 461 860 606 514 590 278 57 104
Base: All Respondents (wtd) 2001 970 1031 558 740 702 127 782 784 308 508 576 280 59 105
1494 698 796 441 566 487 96 586 567 246 271 496 229 52 78
Agree (Net) 75% 72% 77% 79% 77% 69% 75% 75% 72% 80% 53% 86% 82% 89% 74%
A E E * H IN J J* J*
613 299 314 242 217 154 40 244 221 108 86 213 122 20 48
Strongly agree 31% 31% 30% 43% 29% 22% 32% 31% 28% 35% 17% 37% 44% 35% 46%
DE E * H J J J* J*
881 399 482 199 350 333 55 342 345 139 185 283 107 31 29
Somewhat agree 44% 41% 47% 36% 47% 47% 44% 44% 44% 45% 36% 49% 38% 54% 28%
A C C * JLN IN* *
507 272 235 117 174 215 31 196 218 62 237 80 51 7 28
Disagree (Net) 25% 28% 23% 21% 23% 31% 25% 25% 28% 20% 47% 14% 18% 11% 26%
B CcD * | KLMN * K*
362 186 177 81 128 153 20 148 150 45 160 64 36 4 20
Somewhat disagree 18% 19% 17% 15% 17% 22% 15% 19% 19% 14% 32% 11% 13% 7% 19%
C * | KLMN * K*
144 87 58 36 46 62 12 48 68 17 77 16 16 3 8
Strongly disagree 7% 9% 6% 6% 6% 9% 9% 6% 9% 6% 15% 3% 6% 4% 7%
B * | KLM * K*
2001 970 1031 558 740 702 127 782 784 308 508 576 280 59 105
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%
Statistics:

Overlap formulae used

- Column Proportions:
Columns Tested (5%): A/B, C/D/E, F/G/H/I, J/K/L/M/N
Minimum Base: 30 (**), Small Base: 100 (*)

- Column Means:
Columns Tested (5%): A/B, C/D/E, F/G/H/I, J/K/L/M/N
Minimum Base: 30 (**), Small Base: 100 (*)
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2018_3_2. Thinking about the environment and climate change, please indicate whether you agree or disagree with each of the following statements: - People who talk about climate change are overreacting

Total Male Female 18 34 35-54 HS Post Sec | Univ Grad The The Liberal | The New | The Bloc Or some
Conservativ Party Democratic| Québécois | other party
e Party Party (NDP) (BQ)

Base: All Respondents (unwtd) 2001 9204 1097 543 699 759 74 461 860 606 514 590 278 57 104
Base: All Respondents (wtd) 2001 970 1031 558 740 702 127 782 784 308 508 576 280 59 105
688 407 281 253 221 215 48 316 245 79 242 184 83 16 34
Agree (Net) 34% 42% 27% 45% 30% 31% 38% 40% 31% 26% 48% 32% 30% 28% 32%
B DE I* HI | KLMN * *
224 144 81 102 64 59 5 113 82 24 97 66 22 10 12
Strongly agree 11% 15% 8% 18% 9% 8% 4% 14% 10% 8% 19% 11% 8% 18% 12%
B DE * FHI KL L* *
464 264 200 151 157 156 43 203 163 55 146 118 61 6 22
Somewhat agree 23% 27% 19% 27% 21% 22% 34% 26% 21% 18% 29% 20% 22% 10% 21%
B D HI* HI KM * *
1313 563 749 306 520 487 79 465 539 229 266 392 197 42 71
Disagree (Net) 66% 58% 73% 55% 70% 69% 62% 60% 69% 74% 52% 68% 70% 72% 68%
A C C * G FGH J J J* J*
678 304 374 131 275 272 45 262 267 104 183 168 77 32 28
Somewhat disagree 34% 31% 36% 24% 37% 39% 35% 34% 34% 34% 36% 29% 28% 54% 26%
A C C * KL JKLN* *
635 259 376 174 245 216 34 203 272 125 83 224 120 11 44
Strongly disagree 32% 27% 36% 31% 33% 31% 27% 26% 35% 41% 16% 39% 43% 18% 41%
A * G FGH M M * IM*
2001 970 1031 558 740 702 127 782 784 308 508 576 280 59 105
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%
Statistics:

Overlap formulae used

- Column Proportions:
Columns Tested (5%): A/B, C/D/E, F/G/H/I, J/K/L/M/N
Minimum Base: 30 (**), Small Base: 100 (*)

- Column Means:
Columns Tested (5%): A/B, C/D/E, F/G/H/I, J/K/L/M/N
Minimum Base: 30 (**), Small Base: 100 (*)
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2018_3_3. Thinking about the environment and climate change, please indicate whether you agree or disagree with each of the following statements: - Since Canada is a relatively small contributor to the world's pollution, there's not much we
can do here to make a difference

Total Male Female 18 34 35-54 HS Post Sec | Univ Grad The The Liberal | The New | The Bloc Or some
Conservativ Party Democratic| Québécois | other party
e Party Party (NDP) (BQ)

Base: All Respondents (unwtd) 2001 9204 1097 543 699 759 74 461 860 606 514 590 278 57 104
Base: All Respondents (wtd) 2001 970 1031 558 740 702 127 782 784 308 508 576 280 59 105
838 506 332 291 292 256 51 397 283 108 268 231 101 31 41
Agree (Net) 42% 52% 32% 52% 39% 36% 40% 51% 36% 35% 53% 40% 36% 54% 39%
B DE * HI KLN L* *
254 180 74 119 75 60 8 128 85 32 98 86 32 7 8
Strongly agree 13% 19% 7% 21% 10% 9% 7% 16% 11% 10% 19% 15% 12% 12% 8%
B DE * FHI LN * *
585 326 259 172 217 196 43 268 198 76 170 145 69 24 32
Somewhat agree 29% 34% 25% 31% 29% 28% 34% 34% 25% 25% 34% 25% 25% 41% 31%
B * HI KL KL* *
1163 464 698 267 448 447 76 385 501 200 240 344 178 27 65
Disagree (Net) 58% 48% 68% 48% 61% 64% 60% 49% 64% 65% 47% 60% 64% 46% 61%
A C C * G G J M * J*
706 296 410 128 277 301 40 235 318 112 182 194 93 17 21
Somewhat disagree 35% 31% 40% 23% 37% 43% 32% 30% 41% 36% 36% 34% 33% 29% 20%
A C C * G G N N N * *
457 168 288 139 172 146 36 150 183 88 57 151 85 10 44
Strongly disagree 23% 17% 28% 25% 23% 21% 28% 19% 23% 29% 11% 26% 30% 17% 41%
A * GH J J * JKM*
2001 970 1031 558 740 702 127 782 784 308 508 576 280 59 105
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%
Statistics:

Overlap formulae used

- Column Proportions:
Columns Tested (5%): A/B, C/D/E, F/G/H/I, J/K/L/M/N
Minimum Base: 30 (**), Small Base: 100 (*)

- Column Means:
Columns Tested (5%): A/B, C/D/E, F/G/H/I, J/K/L/M/N
Minimum Base: 30 (**), Small Base: 100 (*)
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2018_3_4. Thinking about the environment and climate change, please indicate whether you agree or disagree with each of the following statements: - Canada has an obligation to lead on climate change globally

Total Male Female 18-34 35-54 HS Post Sec | Univ Grad The The Liberal | The New | The Bloc Or some
_...... o = oo | -
e Party Party (NDP) (BQ)
Base: All Respondents (unwtd) 2001 9204 1097 543 699 759 74 461 860 606 514 590 278 57 104
Base: All Respondents (wtd) 2001 970 1031 558 740 702 127 782 784 308 508 576 280 59 105
1508 704 804 456 545 507 101 585 574 248 278 498 236 54 78
Agree (Net) 75% 73% 78% 82% 74% 72% 79% 75% 73% 80% 55% 87% 84% 91% 74%
A DE * GH IN IN IN* J*
595 277 318 217 215 163 39 232 220 105 82 215 114 23 39
Strongly agree 30% 29% 31% 39% 29% 23% 30% 30% 28% 34% 16% 37% 41% 40% 37%
DE E * H J J J* J*
913 427 486 239 330 344 62 354 354 143 195 283 122 30 38
Somewhat agree 46% 44% 47% 43% 45% 49% 49% 45% 45% 46% 38% 49% 43% 52% 36%
493 267 227 102 195 196 26 196 211 60 230 77 44 5 28
Disagree (Net) 25% 27% 22% 18% 26% 28% 21% 25% 27% 20% 45% 13% 16% 9% 26%
B C C * | | KLMN * KLM*
346 176 170 74 142 130 19 149 137 42 155 58 35 3 16
Somewhat disagree 17% 18% 17% 13% 19% 19% 15% 19% 17% 14% 30% 10% 13% 5% 16%
C C * | KLMN * *
147 91 56 28 53 65 7 48 74 18 76 20 9 2 11
Strongly disagree 7% 9% 5% 5% 7% 9% 6% 6% 9% 6% 15% 3% 3% 3% 11%
B C * Gl KLM * KL*
2001 970 1031 558 740 702 127 782 784 308 508 576 280 59 105
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%
Statistics:

Overlap formulae used

- Column Proportions:
Columns Tested (5%): A/B, C/D/E, F/G/H/I, J/K/L/M/N
Minimum Base: 30 (**), Small Base: 100 (*)

- Column Means:
Columns Tested (5%): A/B, C/D/E, F/G/H/I, J/K/L/M/N
Minimum Base: 30 (**), Small Base: 100 (*)
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2018_3_5. Thinking about the environment and climate change, please indicate whether you agree or disagree with each of the following statements: - In order to combat climate change, the solutions will cause economic hardship in Canada

Total Male Female 18 34 35-54 HS Post Sec | Univ Grad The The Liberal | The New | The Bloc Or some
Conservativ Party Democratic| Québécois | other party
e Party Party (NDP) (BQ)

Base: All Respondents (unwtd) 2001 9204 1097 543 699 759 74 461 860 606 514 590 278 57 104
Base: All Respondents (wtd) 2001 970 1031 558 740 702 127 782 784 308 508 576 280 59 105
1212 634 578 350 414 448 76 524 446 165 385 324 149 42 61
Agree (Net) 61% 65% 56% 63% 56% 64% 60% 67% 57% 54% 76% 56% 53% 72% 58%
B D D * HI KLN KL* *
325 216 109 117 105 103 18 156 116 34 134 92 31 19 15
Strongly agree 16% 22% 11% 21% 14% 15% 14% 20% 15% 11% 26% 16% 11% 32% 14%
B DE * HI | KLN KLN* *
888 418 469 233 309 346 58 368 330 131 251 232 117 23 47
Somewhat agree 44% 43% 46% 42% 42% 49% 46% 47% 42% 43% 49% 40% 42% 39% 44%
789 336 452 208 326 254 50 257 338 143 123 252 131 17 44
Disagree (Net) 39% 35% 44% 37% 44% 36% 40% 33% 43% 46% 24% 44% 47% 28% 42%
A CE * G G M M * J*
625 266 360 147 264 214 42 202 268 113 110 193 98 13 31
Somewhat disagree 31% 27% 35% 26% 36% 30% 33% 26% 34% 37% 22% 33% 35% 22% 29%
A C * G G J J * *
163 71 93 62 62 40 8 55 70 30 13 59 34 4 13
Strongly disagree 8% 7% 9% 11% 8% 6% 6% 7% 9% 10% 3% 10% 12% 6% 12%
E * J J * J*
2001 970 1031 558 740 702 127 782 784 308 508 576 280 59 105
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%
Statistics:

Overlap formulae used

- Column Proportions:
Columns Tested (5%): A/B, C/D/E, F/G/H/I, J/K/L/M/N
Minimum Base: 30 (**), Small Base: 100 (*)

- Column Means:
Columns Tested (5%): A/B, C/D/E, F/G/H/I, J/K/L/M/N
Minimum Base: 30 (**), Small Base: 100 (*)
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2018_3_6. Thinking about the environment and climate change, please indicate whether you agree or disagree with each of the following statements: - No matter how hard we try, we won't be able to significantly reduce carbon emissions over
the next decade

Total Male Female 18 34 35-54 HS Post Sec | Univ Grad The The Liberal | The New | The Bloc Or some
Conservativ Party Democratic| Québécois | other party
e Party Party (NDP) (BQ)

Base: All Respondents (unwtd) 2001 9204 1097 543 699 759 74 461 860 606 514 590 278 57 104
Base: All Respondents (wtd) 2001 970 1031 558 740 702 127 782 784 308 508 576 280 59 105
1151 605 545 336 378 437 86 497 428 139 364 296 133 36 59
Agree (Net) 58% 62% 53% 60% 51% 62% 68% 64% 55% 45% 72% 51% 47% 62% 56%
B D D HI* HI | KLN * *
307 197 111 106 100 101 25 138 104 40 111 69 47 16 23
Strongly agree 15% 20% 11% 19% 14% 14% 20% 18% 13% 13% 22% 12% 17% 27% 21%
B DE * H K K* K*
843 409 434 230 277 336 62 359 324 99 253 227 86 20 36
Somewhat agree 42% 42% 42% 41% 37% 48% 49% 46% 41% 32% 50% 39% 31% 35% 34%
CcD I* | | KLN L * *
850 365 485 222 363 266 40 285 356 169 144 279 147 23 47
Disagree (Net) 42% 38% 47% 40% 49% 38% 32% 36% 45% 55% 28% 49% 53% 38% 44%
A CE * FG FGH J J * J*
601 261 340 119 278 203 26 203 259 113 112 187 100 16 35
Somewhat disagree 30% 27% 33% 21% 38% 29% 20% 26% 33% 37% 22% 33% 36% 28% 34%
A CE C * FG FG J J * J*
249 105 145 103 84 63 15 82 97 56 32 92 47 6 12
Strongly disagree 12% 11% 14% 18% 11% 9% 11% 10% 12% 18% 6% 16% 17% 11% 11%
DE * GH J J * *
2001 970 1031 558 740 702 127 782 784 308 508 576 280 59 105
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%
Statistics:

Overlap formulae used

- Column Proportions:
Columns Tested (5%): A/B, C/D/E, F/G/H/I, J/K/L/M/N
Minimum Base: 30 (**), Small Base: 100 (*)

- Column Means:
Columns Tested (5%): A/B, C/D/E, F/G/H/I, J/K/L/M/N
Minimum Base: 30 (**), Small Base: 100 (*)
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2018_3. Thinking about the environment and climate change, please indicate whether you agree or disagree with each of the following statements: - Agree Summary

T G

_ - - ...

EDUCATION

The

Conservativ
e Party

The New
Democratic| Québécois |other party
Party (NDP)

The Bloc

(BQ)

Decided-Voters Leaners

The Liberal
Party

Or some

Base: All Respondents (unwtd) 2001 904 1097 543 699 759 74 461 860 606 514 590 278 57 104
Base: All Respondents (wtd) 2001 970 1031 558 740 702 127 782 784 308 508 576 280 59 105
1494 698 796 441 566 487 96 586 567 246 271 496 229 52 78
Canada needs to do more than it is currently doing to
address climate change 75% 72% 77% 79% 77% 69% 75% 75% 72% 80% 53% 86% 82% 89% 74%
A E E * H JN J J* J*
688 407 281 253 221 215 48 316 245 79 242 184 83 16 34
People who talk about climate change are overreacting 34% 42% 27% 45% 30% 31% 38% 40% 31% 26% 48% 32% 30% 28% 32%
B DE I* HI | KLMN * *
838 506 332 291 292 256 51 397 283 108 268 231 101 31 41
Since Canada is a relatively small contributor to the world's
pollution, there's not much we can do here to make a
difference 42% 52% 32% 52% 39% 36% 40% 51% 36% 35% 53% 40% 36% 54% 39%
B DE * HI KLN L* *
1508 704 804 456 545 507 101 585 574 248 278 498 236 54 78
Canada has an obligation to lead on climate change globally 75% 73% 78% 82% 74% 72% 79% 75% 73% 80% 55% 87% 84% 91% 74%
A DE * GH JN JN IN* J*
1212 634 578 350 414 448 76 524 446 165 385 324 149 42 61
In order to combat climate change, the solutions will cause
economic hardship in Canada 61% 65% 56% 63% 56% 64% 60% 67% 57% 54% 76% 56% 53% 72% 58%
B D D * HI KLN KL* *
1151 605 545 336 378 437 86 497 428 139 364 296 133 36 59
No matter how hard we try, we won't be able to significantly
reduce carbon emissions over the next decade 58% 62% 53% 60% 51% 62% 68% 64% 55% 45% 72% 51% 47% 62% 56%
B D D HI* HI | KLN * *

Statistics:

Overlap formulae used

- Column Proportions:
Columns Tested (5%): A/B, C/D/E, F/G/H/I, J/K/L/M/N
Minimum Base: 30 (**), Small Base: 100 (*)

- Column Means:
Columns Tested (5%): A/B, C/D/E, F/G/H/I, J/K/L/M/N
Minimum Base: 30 (**), Small Base: 100 (*)
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2018_3. Thinking about the environment and climate change, please indicate whether you agree or disagree with each of the following statements: - Disagree Summary

Total Male Female 18 34 35-54 Post Sec | Univ Grad The The Liberal | The New The Bloc Or some
Conservativ Party Democratic| Québécois | other party
e Party Party (NDP) (BQ)

Base: All Respondents (unwtd) 2001 904 1097 543 699 759 74 461 860 606 514 590 278 57 104
Base: All Respondents (wtd) 2001 970 1031 558 740 702 127 782 784 308 508 576 280 59 105
507 272 235 117 174 215 31 196 218 62 237 80 51 7 28
Canada needs to do more than it is currently doing to
address climate change 25% 28% 23% 21% 23% 31% 25% 25% 28% 20% 47% 14% 18% 11% 26%
B D * | KLMN * K*
1313 563 749 306 520 487 79 465 539 229 266 392 197 42 71
People who talk about climate change are overreacting 66% 58% 73% 55% 70% 69% 62% 60% 69% 74% 52% 68% 70% 72% 68%
A C C * G FGH J J J* J*
1163 464 698 267 448 447 76 385 501 200 240 344 178 27 65

Since Canada is a relatively small contributor to the world's
pollution, there's not much we can do here to make a

difference 58% 48% 68% 48% 61% 64% 60% 49% 64% 65% 47% 60% 64% 46% 61%
A C C * G G J M * J*
493 267 227 102 195 196 26 196 211 60 230 77 44 5 28
Canada has an obligation to lead on climate change globally 25% 27% 22% 18% 26% 28% 21% 25% 27% 20% 45% 13% 16% 9% 26%
B C C * | | KLMN * KLM*
789 336 452 208 326 254 50 257 338 143 123 252 131 17 44
In order to combat climate change, the solutions will cause
economic hardship in Canada 39% 35% 44% 37% 44% 36% 40% 33% 43% 46% 24% 44% 47% 28% 42%
A CE * G G M M * J*
850 365 485 222 363 266 40 285 356 169 144 279 147 23 47
No matter how hard we try, we won't be able to significantly
reduce carbon emissions over the next decade 42% 38% 47% 40% 49% 38% 32% 36% 45% 55% 28% 49% 53% 38% 44%
A CE * FG FGH J J * J*
Statistics:

Overlap formulae used

- Column Proportions:
Columns Tested (5%): A/B, C/D/E, F/G/H/I, J/K/L/M/N
Minimum Base: 30 (**), Small Base: 100 (*)

- Column Means:
Columns Tested (5%): A/B, C/D/E, F/G/H/I, J/K/L/M/N
Minimum Base: 30 (**), Small Base: 100 (*)
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2018_4. How much would a litre of gas need to cost in order for you to switch to a more fuel efficient car, or find alternate modes of transportation?

Total Male Female 18 34 35-54 Post Sec | Univ Grad The The Liberal | The New The Bloc Or some
Conservativ Party Democratic| Québécois | other party
e Party Party (NDP) (BQ)
Base: All Respondents (unwtd) 2001 904 1097 543 699 759 74 461 860 606 514 590 278 57 104
Base: All Respondents (wtd) 2001 970 1031 558 740 702 127 782 784 308 508 576 280 59 105
356 174 182 114 155 87 26 124 155 51 79 77 49 11 24
$1.00-$1.25 18% 18% 18% 20% 21% 12% 21% 16% 20% 17% 16% 13% 18% 18% 23%
284 145 139 62 116 106 13 101 118 52 76 80 54 1 17
$1.26-$1.50 14% 15% 13% 11% 16% 15% 10% 13% 15% 17% 15% 14% 19% 1% 16%
C * M M M * M*
83 45 38 12 30 40 - 25 38 20 23 27 12 5 5
$1.51-51.75 4% 5% 4% 2% 4% 6% - 3% 5% 7% 5% 5% 4% 8% 4%
C * FG * *
25 9 16 6 14 6 3 8 11 4 7 9 4 - *
$1.76 - $1.99 1% 1% 2% 1% 2% 1% 2% 1% 1% 1% 1% 2% 1% - *
* * *
599 281 319 139 209 252 28 243 242 86 163 168 77 31 26
$2.00-52.25 30% 29% 31% 25% 28% 36% 22% 31% 31% 28% 32% 29% 28% 53% 25%
CD * JKLN* *
52 23 29 11 25 16 3 12 29 7 7 16 12 3 2
$2.26-$2.50 3% 2% 3% 2% 3% 2% 3% 2% 4% 2% 1% 3% 4% 5% 2%
4 3 2 - 2 2 1 1 1 2 - -
$2.51-$2.75 * * * * - * 1% * * * * * 1% - -
* * *
1 - 1 - - - - - 1 - - - - -
$2.76 - $2.99 * - * - * - - - - - - - - -
* * *
257 139 119 119 76 63 20 134 66 37 64 92 32 5 14
$3.00- $3.25 13% 14% 12% 21% 10% 9% 16% 17% 8% 12% 13% 16% 11% 9% 13%
DE H* HI H * *
65 42 23 34 17 13 8 28 18 11 10 23 10 - 2
$4.00 - $4.25 3% 4% 2% 6% 2% 2% 6% 4% 2% 4% 2% 4% 4% - 2%
274 113 162 59 98 117 24 105 106 39 77 82 27 3 16
$4.76 - $5.00 14% 12% 16% 11% 13% 17% 19% 13% 13% 13% 15% 14% 10% 5% 15%
A C * * *
2001 970 1031 558 740 702 127 782 784 308 508 576 280 59 105
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%
M 2.4 2.3 2.4 2.4 2.3 2.4 2.6 2.4 2.3 2.3 2.4 2.5 2.2 2.1 2.3
ean
D H* H LM * *
1.26 1.22 1.3 1.23 1.26 1.29 1.42 1.24 1.25 1.24 1.27 1.26 1.16 0.88 1.32
Std. Dev.
Std. E 0.03 0.04 0.04 0.05 0.05 0.05 0.13 0.04 0.04 0.07 0.06 0.05 0.07 0.11 0.13
. Err.
2 2 2 2 2 2 2 2 2 2 2 2 2 2 2
Median
Statistics:

Overlap formulae used

- Column Proportions:
Columns Tested (5%): A/B, C/D/E, F/G/H/I, J/K/L/M/N
Minimum Base: 30 (**), Small Base: 100 (*)

- Column Means:
Columns Tested (5%): A/B, C/D/E, F/G/H/I, J/K/L/M/N



Minimum Base: 30 (**), Small Base: 100 (*)
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2018_5. Do you think that low oil and gas prices are...

Total Male Female 18 34 35-54 HS Post Sec | Univ Grad The The Liberal | The New The Bloc Or some
Conservativ Party Democratic| Québécois | other party
e Party Party (NDP) (BQ)

Base: All Respondents (unwtd) 2001 904 1097 543 699 759 74 461 860 606 514 590 278 57 104
Base: All Respondents (wtd) 2001 970 1031 558 740 702 127 782 784 308 508 576 280 59 105
1369 665 704 417 505 446 88 565 538 178 331 412 194 35 71
A good thing for Canada 68% 69% 68% 75% 68% 64% 69% 72% 69% 58% 65% 72% 69% 60% 67%
DE * | | J * *
632 305 327 141 235 256 39 217 246 131 177 163 85 23 35
A bad thing for Canada 32% 31% 32% 25% 32% 36% 31% 28% 31% 42% 35% 28% 31% 40% 33%
C C * GH K * *
2001 970 1031 558 740 702 127 782 784 308 508 576 280 59 105
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%
Statistics:

Overlap formulae used

- Column Proportions:
Columns Tested (5%): A/B, C/D/E, F/G/H/I, J/K/L/M/N
Minimum Base: 30 (**), Small Base: 100 (*)

- Column Means:
Columns Tested (5%): A/B, C/D/E, F/G/H/I, J/K/L/M/N
Minimum Base: 30 (**), Small Base: 100 (*)
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